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INFINITY® Al2|= ZZF ZE| INF35-6/INF55-6

INF35-6 ZIHH gazo|l= ﬁfﬂ'ﬂ
=T .
od 49 «INF35-6: 25mm ACME
INF35-6-3134 INF35-6(31-34 .= = &) IN NF55-6: 40mm ACME
ey : INF35-6: 12.8 - 28.0
INF35-6-3537 INF35-6(35-37 == Z &) ’ "o 128-28.0m
(35 = Z0| Mx|E) R O-|E|21.F55-6. 15.9-30.5m

-é-:?‘ﬁ\”:35-62 26.9-171.5 LPM(7.1-45.3 GPM)
«INF55-6: 52.6-231.3 LPM(13.9-61.1 GPM)
NI
«INF35-6:

6 ZAHAN o
INF55-6 ZIHH 2 Tzjo]= %|2:9.8mm/hr

24 4 %|cH: 16.3mm/hr
INF55-6-5154 INF51-6(55-54 = & Z8t) ' ',C"|'i551161 1
(53=30 ¥Alg) - 17%%;
INF55-6-5558 INFS5-6(55-58 == Z21) | mpelet w34, 4.5, 5.5 9 6.9 Bar(50, 65,80 X 100 psi)
(55 =&0] dX|=) 2 MEH IS
INF55-6-59 INF55-6(59 = Z0| A1%| &) U RS o2 Hel.
+4.5-6.9 Bar(65-100 psi)
« X|CH: 10.3 Bar(150 psi)
« X[ 2.8 Bar(40 psi)
x5 94
|2 &2 0lE
« Spike Guard £2{ 0| =
AEIA(STEALTH™) 7|E « L|Z =3 Spike Guard™ &2/ 0|=
AOZEY S QoD TA Qs «DC 2il& &2 0|=(DCLS)
JHdgLICt, -t N HA

«DCLS H% Lynx AOIE B &
-t MEY HA
o AVSEEALZEE: 70 A 30°77HK] 1° BHRI 2 245 =

«INF35-601= 87tX| '=&(30, 31, 32, 33, 34, 35,36 & 37)
ol 9l
+«INF55-601= 974X = &(51, 52, 53, 54, 55, 56, 57, 58 5! 59)

o/l

x-leﬂOIH S5 INF35-6 - 3 % NF55-6 - 3
&
ADFE M| A (SMART ACCESS™) HH 2 HAA %[ F:
«INF35-6: 19cm

«INF55-6: 19cm

2H =0l:

«INF35-6: 25cm

«INF55-6: 29cm

R

«INF35-6: 1.95kg(4.31lbs.)

«INF55-6: 2.33kg(5.13(bs.)

Lynx AOIE B &5 S0t £

+INF35-6: 2.27kg(5.00lbs.)

+INF55-6: 2.63kg(5.82lbs.)

L EVHX| S| BY %=0]: 8.25cm

EXHE

2'4, Toro A8 ZQIEE X2t F2E 54

HA| BE — INF35-6 X INF55-6
INFX5-XXX-X6

STEALTH™7|E 2 &

STEALTH-T - 0| 7| E &= TruJectory™ AELA0f| 245 ol =&
ZH 7150] Q= INFINITY Al2| = AZ 222 of ZHAFEIL|C
STEALTH-D - 0| 7|E= O|F BAt = ZF Ol = & & F
7150] Q= INFINITY Al2| = AZS2{of| ZHAHEIL|C},

INFX 5 XX X X 6
3—1" 5—Me™, ZH == H | INF35—30, 31, 32, 33, 34, 35, 36, 37 6—4.5 bar(65 psi) 1-7|2 &8|o|= 6—24%t TruJectory
5—11/2"| 7|5 LMY = INF55—51, 52, 53, 54, 55, 56, 57, 8—5.5 Bar(80 psi) 2—Spike Guard™ &3 0| =
58,59 1—6.9 Bar(100 psi) | 3—LI& =2 Spike Guard &2l|.=0|=

4—DC 2H& £2|=0|=(DCLS)
5—52 GDC Z&(DCLS %)
6—=% LYNX AOLE 2 E(DCLS 22
Ol: 434 'o &S TS 4.5 bar(65 psi)ollM 42 RHE 5tH Spike GuardZh L= INF35-6 Al2| = AZZIZE X|Hst= 42, LIS EAIE: INF35-346-26

*BE ABZZe0f= ME It QIS WE I ZAIE|0] 3.4,4.5,5.5 % 6.9 Bar(50, 65,80 % 100 psi) 2 &g+ A&LICH
A BE DHO| 70 Jts et 212 OfELICt,

57



INF35-6/INF55-6 &+t 2AL 2t M5—(0|H

i £tel)

58

=Z/Bar/LPM #31/51 == @ 4.5Bar #32/52 =5 @ 4.5Bar
et 2AH 2 7° 10° 15° 20° 25° 30° 7 10° 15° 20° 25° 30°
A" 140 140 |152]155] 162 16.5 52 [140]149 19152 155 168 |19.2]195]165]198
"B" AZ20| &0| 12 12 | 15]18[24[30 (3440404609 12] 12 18 27 |37 (344640
“C" HE2EE2] 72| 7679768279 98 101] e 101]22]101]24]61[67]73]79]85][ 94 104]107] 104 [104] 9
= Z/Bar/LPM #33/53 =Z @ 4.5Bar #34/54 == @ 4.5Bar
ASEA ZHE 7° 10° 15° 20° 25° 30° 7 10° 15° 20° 25° 30°
A"t 16.5 171 18.0 189 [201]207] 186 177 183 19.2 20.4 26 213
"B" A=|0| £0] 12151518 21 27 40 46 |12]15 121818243430 43 52
"¢ SR RE | A2 70 | o1 |85 101 98 [i04[107]107][n3]107]13] 73] 94|79 104]107[22[no25] ne [nois
==Z/Bar/LPM #35/55 =% @ 4.5Bar #36/56 .== @ 5.5Bar
At At ZE 7° 10° 15 20° 25° 30° 7° 10° 15 20° 25° 30°
A 180 |186[189|195 201 213 232 |226]235]195]219]207]222]232]229]244]250[ 256 259] 250
"B" A=2|0| =0 121815 [ 18] 21[27] 34 46 52 15 21 27 43 52 67
"C HERRE A2 91 [104] 98 [no[no|Bi[m1]nr7][nB1]nB7]B1][B7] 76 6 12.2 137 149 137
Z/Bar/LPM #37/57 =Z @ 5.5Bar #58 == @ 5.5Bar
T 7° 10° 15° 20° 25° 30° 7° 10° 15° 20° 25° 30°
A" 198 [ 219 [ 210 [ 226 238] 235250253 [ 262[ 271 | 256259 229 235 253 265 28.0 268
"B" Az=2|0] =0 15 21 27 43 55 67 18 21 30 46 55 67
" S|=REE 9| 72| 91 19 125 140 15.2 140 16 122 131 143 158 146
Z/Bar/LPM #59 & @ 5.5Bar
AstEA ZHE 7 10° 15° 20° 25° 30°
A" HEZ 235 238 256 271 293 280
"B" Aza|0] 0| 21 24 34 49 64 76
"C" =2 RE2| 72| 128 134 137 14.3 16.2 149
HE8 EY wojn] M¥| Zofe IS 7 ABLIC)
INF35-6/INF55-6 &5 2A ZHE Ms—(O|= £HY))
L= Z/PSI/GPM #31/51 .= @ 65psi #32/52 =5 @ 65psi
At SAF 2 7 10° 15° 20° 25° 30° 7 10° 15° 20° 25° 30°
A" HE 46 46 | 50757 53 54 50 | 46/49' | 49750 51 55 | e3/64 | 54765
"B" AzZa|0] =0 4 4 5/6 g0 | a3 | 13As | 34 4 6 9 2 | 153
"C" S| 2EE{2| A2 25026' | 25027 | 26/32 | 33/38' | 33740 | 33747 | 20122 | 24726 | 28/37 | 34735 | 34 | 34730
L= Z/PSI/GPM #33/53 == @ 65psi #34/54 =5 @ 65psi
Abst EAF ZHE 7 10° 15° 20° 25° 30° 7 10° 15° 20° 25° 30°
A HH 54 56 59 62 | 66768 61 58 60' 63 67 74 70
"B Azal[0] =0 45 5/6 7 9 13 15 4/5 46 6/8 | 10 14 17
" S|lEREE 2| 72| 23/30° | 28/33 | 32 | 34/35 | 35/37 | 35/37 | 24/37 | 26734 | 35/40° | 39/41 39 | 39/42
= Z/PSI/GPM #35/55 =5 @ 65psi #36/56 '== @ 80psi
At A ZEE 7 10° 15° 20° 25° 30° 7 10° 15° 20° 25° 30°
Ak 59 61/62 | 64/66 | 70 76 7477 | 64772 | 68773 | 76775 | 8082 | 84/ss | 82
"B" Ama|0] =0 4/6 5/6 7/9' m 15 17 5 7 9 14 7 22
"C" S|E2EE2| 72| 30/34 | 32/36 | 36/43 | 4345 | 43/45 | 43/45 25 38’ 40 45 49 45
L= Z/PSI/GPM #37/57 .= @ 80psi #58 L= @ 80psi
ASt SAF 2T 7 10° 15° 20° 25° 30° 7° 10° 15° 20° 25° 30°
A 65/72 | 69174 | 78177 | 82/83 | 8e/8y | s4yss | 75 77 83 87 92 88
"B" AZa|0] =0 5 7 g 14 18 22 & 7 10 15 18 22
"¢ SE2EE9] A2 30 39 41 46 50 46 38 40 43 47 52 48
= Z/PSI/GPM #59 == @ 80psi
ASHEAL ZHE 7° 10° 15° 20° 25° 30° :
A" HEH 77 78’ 84’ 89’ 96’ 3 /c_ \
"B" AZz|0| &0| 7 g m 16 21 25 .
"C* =R EE o] Az 42 44 45 47 53 49
HX8 FEY #ojn) AN o= [1E 2 QLD




